10.

11.
(@)

(3) :i 3
(4 & (4 .

L. o e’ & T T T - 17 et fed B9 e A
() o 3 o e 5 b -
Q) TE-SE w AR
.(3) =@ fe e

(4) = H

13, ::maggﬂﬁﬁmammﬁwmm
(1) Wﬂm | ~(1) e {,
2) azﬁ‘atm t e it
@) T . (3 3
.(4) TEEEE | " |

SHIAV/G
3




19, Pt i & o fw e € - | 24, Freen # & wwere v ) weam wHi -

~(1) e ’ ‘(1) e
@) W | ' (2) UEHTM
- @) wfus @) et
@) v&w 4) w=.
20. T e  fordro = F 25, ‘o A T T e 5 g T
- (1) S ‘ 3 : {3
@) T I R 1) fomm
G) S g “@) W
@ Hew ()
(4) Ta=n

i
t

i “!uu"]

O ST T ' Read the paragraph/ f;:—é%n passage carefully
2 ; and answer the following questions (26-30) :
8)= .. Dams not only save-the water of our rivers
" for irrigation but they do.other things as well. They
S control floods in the rivers. “When there are floods,
the gates of the dam are Opened and the water
‘ flows down the rivers into-the canals. Dams %1;‘;
22. 'BEYEad g’ kil 3 do other things like generating electricity.
: SIEIED EQl @ﬁ‘@lTn ‘ water in the dams falls on giant wheels and ﬂ;i
M) = 7 e g T B wheels turn machines which produce eiﬁzttr)ig
‘(2 e Ty : current. Some years ago only the cities and e
' 4 TTH 1 HE towns in our country had electricity and the v11131g0 8
@) Ty gy : houses remained in the dark. But nowadays, d .
of it is produced by the dams and also supp Sore
) form FeTE T ey o the villages. When mor¢ dams are built and' 1
> . electricity is produced, 1t“can even be suppli¢
‘" A ‘et y;, | small villages for 24 hours:~
A )
1) Zgm . ~‘=‘ ).
5 ' 26, Write the opposite of:.“Light”.
@ ) ‘(1) Bright
) qur (2) Faint Cad
T4)  awmy ~(3) Dark
SHIaV /g (4) Lighted

\

B y




.

27. is produced from water.

® (1) Wheat
(2) Gram
(3) Electricity
(4) Rice

28. How does consﬁfﬁeﬁon of more dams bring
hope to the small villages ?

_Choose the correct. ophon

(1) They give employment to the vﬂlagers
(2) They provide water facility.
™~ (8) Electricity can be supplied to small
villages for day and night.
(4) More mechanized farming can be done.

29. During ﬂoods the:

rater does not over flow

(1) Banks of nvers and canals
~()
~(@)

(42> Ponds

Canal

Rivers

30. What important work do the dams do ?

(1) Control Floods v
(2) Control Cyclones

~>(3) Control Global Warming
@

Save Electricity

3. From the g1ven ophons, choose the correct
meaning of the word ”authentlc”
(1) counterfelt
“(2) genuine
(3) fake
(4) wunreal
SHIAV /G

32. Fill in the blank with the correct word from

the options given below.
My friend
well.
@)
(2)
3)
(4)

play the guitar very

should

33. Choose the.correct Passive transformation of .

the given sentence.
“Who is bothering you ?’ "
(1) By whom are you being bothered 7
(2) Whom are you being bothered ?
~(3) You are bothered by him ?
(4) By whom are you bothered ?
34. Choose the correct word.

are old friends.

Complete gche—”sentence with suitable words
given in the options.

Buses ;
hour.

&)
~2)
©®)
@

35.

on this road every one

36, Choose the correct option to complete the

given senténce with suitable ad]ectlve
The cab drwex is a
should select, Him,
(1)  neighbourhoog
~2) money minded
) large
M4)  polite

person, we

P.T.O.

RN



37. Choose the correct option t0 complete the

glven sentence.

She
(1)
(2)
~@)
(4)

speak French fluently-
might
must

dare

Complete the g1ven sentence with the
appropriate option.

38.

“The box was
lady to carry.

-=@)
“(2)
@)
(4

heavy for that frail

enough

too

Fill in the blank in the given sentence with
the most appropnate preposition from the
options given belc

359

his achievements in

40. From the given optlpns, choose the COrrect

meaning of the Word "provoke”,
(1) comfort - .,:;.,v
~(2) delay )
(3) common
(4)

incite

SHIAV /G

41. Fill in the blank in the given sentence with
the most appropnate preposition from the
options given below :

We should not let hobb1es interfere
our studies.. =
* (1) upon
(2) at
(3).: to
~(4) with

42. Identify the noun in the g’izven sentence from
the following options. -
I have read about the Ramayana. )

. (1) about
~(2) . have
@) I
-(4) Ramayana e

43. Arrange the followingi ords as per the order

in the dictionary.

(i) Direction : e

(i) Directed

(iif) Director }

(iv) Directing ’

@) @) @), 0 () -i

~@ 0 @) ), @v) |

@) (v), ), (), @) )

@ G 6 Gv), () i

44. 1asked her what she the next
Sunday. l
Complete the sentence\,usmg su1tab1e WOdel't‘sé
given below. '

(1) doing
N2) were doing j
(3) was doing
M4) does




45. Which word comes first in the dictionary ?
(1) carry
~(2) cotton
(8) compass
(4) carrot

46. Fill in the blank in the _glven sentence with
the most appropriate Word from the options

given below.

your brothe: E § in Mumbai now.

(1) a
(2) ~ the
(3) an

(4) N/A (no article)

47. Choose the correct optlon to complete the
given sentence : CE

_,_.E..

i cz.
Imull' ||I I}
‘2

As a part of our morals
serve our motherland. ..

(1) can
(2) oﬁght to
(3) could
(4) may

48. . Which of the following words is spelt wrong ? -

(1) Army

(2) Every
~(3) Febrary

(4) Children

50. Select the option that expresses the givkn
sentence correctly.

/1 saw the tiger in the 'fo‘ré’st !
(1) The tiger saw by‘ I m the forest.
(2) The tiger was seen by me in the forest.

y,

(3) The tiger see me in-forest.

~\(4) Iwas seen the ﬁger;:in forest. .
51. Wqﬂﬁaﬂ’_aﬁmm%l
(1) B @ 4FER
(3) 24 TR | (4) 28 femm=r
World Animal day is celebrated on :
(1) 13 June _(2) 4 October

(3) 24 November 28 December

52. ﬁmﬁf@aﬁ@rmﬁaﬁﬁaﬁwgﬁz@w“@t
Heifea § 2

(1) fo=f= B

- +(3) faamAK (4) faafED

Which of the following Vitamin deficiency is
associated with loss of vision ?

(1) Vitamin B (2) Vitamin A

(3) Vitamin K (4)

Vitamin D

e,

53. fr=fafea ® @ mﬁwqﬁtﬁqﬁ%?

49.  Fill in the blank with the c BN
orrecto tion given NyAv:
' below, l P & 1) e M) af =
They here by<8;00 pm tomorrow. ") ferg (4), oS
™ (1) reached N " Which of the followlﬁg {s the capital of
"(2) have reached ' ™’ Bhutan ? :
(3) should have reached (1) Burundi (2) Benin
; (4) will have reached (3)  Thimphu (4) Belize
|
1 SHIAV /G P.T.O.




54.

55.

56.

Wer seEr ST S1EwTg Sk YA h

retferfian ¥ & fora ot # feera &7
(1) = ;(2) FIRR
~(3) W@ @) R

Sohagi Barwa wildlife sanctuary is located
in which of the followmg districts of Uttar

Pradesh ? )
D
(3)

|‘l e Ill

{ ll

Unnao -_(2) Fatehpur

Banda £5d) Maharajgan;

I

HI-91 FEg w9 W ﬁswqf ?ﬁTrFIT
ST H @8

(1) Toen 9

(2) g&H, WY AR AeAH TTH WA

(3) feen T A foebry #aaler

“(4) Wﬁmaﬁgwmw

Which Union Ministiys 1mplementmg the
“PM Vishwakarma Scheme

(1) Ministry of Edue fmn

(2) Ministry of MICI‘O‘ Small and Medium
Enterprises
Ministry of Woman and  Child
Development

Ministry of Skill Development &
Entrepreneurship

|I

)
4)

frafafad & 4 FH-91 waifus siem fig
TJAZ?
‘(1) TEASAGE

(3) TATEL T T
(4) TAFZHT 7 ﬁi
Which of the !o]lowmg
efficient light Bulp 7°-

(1) Halogen Bulp L7 J
(2) CFL Bulb

(3) LED Bulb

(4) Incandescent Bylp

is the most energy

59.

SHIAV /G
8

57. Wwwmﬁwﬁr@aﬁ@m
sfyeR feag! mm%7 L

(1) 18rﬂafr (2) 10 TERR
@) 18 aqaz;az L @ 10 FfEER

Which one of the fpﬂowmg days is celebrat

as ‘'Human nghthay by UN ?

18th ]an; v

1) (2) 10t Nov.
(3) 18th Oct. (4)  10% Dec.
58. ‘S EEHTA SHiep ST Wi TRl e
forem foet ?
@
~(4)

Who wrote tl’ﬁe book “New Dimension (
India’s Foreign Policy’ ?

(1)
(2)
(3)
(4)

Abul Kalam Azad
Amit Chaturvedi
Atal Bihari Vajpayee .

Raghuram Rajan

1) AT
(3) 4’\’!171'5!'1"‘[“\;:’ N ) 4 ST
YY)

Which one of lhe following d
as ‘World Braille Day’ ?

(1) 4" Teb. (2)
3) 4" Jan, (4)

ays is CEIQWlt

4th March
4th April

y
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60.

61.

62.

M 4G @

freffed § 9 s i TIUE S 72
3) fa==h -4 faet
Which of the fo ﬂif_wing'_ris‘ the gapital of

Australia ? £

I

(1) Vienna =— (2) Canberra

() Minsk £=: (4 Sydney
frefaten & R -HH-W HEd Erec
TS | Feifea el § 2

Which of the following is not related to
mobile phone network technology ?

5G

(3) CDMA LAN

~(4)

frefafs 4 S @ o, wiE, o el
n = (2) s

@) W Cuis @) e

Which of‘the folle _‘_N:;]Ilg is the official currency
of Germany, France; Spain and Austria ?
(1) EBuo 72 (2 "

if
i
W
i

|

ul] il

Dalasi

(3) Lempira (4) Gourdie -«

(3) )l ﬁa]f;},_:_
(4) = QIS 2ga wam
“Wings of Fire” ‘J,S tlge autobiography of :
(1) Sardar Vallabh Bhai Patel
() Homi ]ahénél'r Bhabha
(3) Arun Tiwari
(4) Dr. A.P.J. Abdul Kalam

SHIAV / G

64. Tr=fofed & & o5 s v ¥ wwou ©

| 65.

3). Thermometer  (4)

66.

g2

Who amqu the following has been the
Governor:of Uttar Pradesh ?

(1) 'Smt. Margaret Alva

(2) Shri Kalyan Singh

(3) - Shri Ram Naik.

(4) . Smt. Pratibha Patil

ﬁﬂﬁf@a‘ﬁ%ﬁﬂmmwﬁwﬁm
(1) awmfﬁ'%t o2) ToemE
(3) o @) F

Which o;f::tl——le following instrument is

. associated-with earthquake ?

(1) Calorimeter (2) Seismograph

Barometer

26, SR 2024 1 e TR feer wEE
T Afafy s 9 2
(1) omefern % Teufy

Who was thé ‘Chief guest in Indian Republic
Day Celebration on 26th January 2024 ?

(1)  President of Australia
(2)  President of Germany
()  President of France
(4)  President of Russia:

p.T.O.
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67. SR VAW 1 wgen evawwy, Frefatad 4 ¥

T ot @ weifum §2
(1) BT (2 @
(3) SRR \(4“)”-31'3@

The Kachhua Sanctuary: “of Uttar Pradesh is
associated with which:of the following

70.

districts ? -
(1) Mainpuri (2)-Etah .
(83) Varanasi (43;:—3Hardoi

68. ﬁw@@aﬁ@%&aﬁaﬁﬁﬁ@ﬁm

e ?
(1) wefaad ) Hhfewm
— (3) 3T (Sie) (@_Eam‘@ﬁ

| The deficiency of which _:f the following

mineral leads to Anaemi

@)
®)

69. ﬁwﬁr@aﬁ@mmﬁa 2024 ¥ qefE

Cadn‘iium

Iron

Frar T ?

-(1)
— (2
€)

(4)

Who amoﬂg the followmg is awarded Bharat

At T FHA G, |
2f, T Fafgem @ifeem
=], ETA=IAT et

1)
(2)

(3)
(4)

SHIAV /G

Shri M. Venkaiah ! -’Naidu

pDr. Monkombuy Sambasivan
gwaminathan |

Dr. Vy]ayanﬁmalé"'Bafl
Shri Konidela Chiranjeevi

10

71.

SR T A 2

T (2 T

e oz A 3 e o F T Ty A
IR ENRCARE TR N ETE

In which year did Prime Minister Narendra
Modi Launch the National Animal Diseases
Control Programme ?-

(1772016 ", w1 ()7 2019

3) - 2023 4) 2024

e & T R 79

(4) ol Ty

In Uttar Pradesh the festival of Kumbh Mela
is celebrated E\ﬂ the confluence of which

rivers ? l N

(1) Ganga, Yamum and Sarasx&ah
(2) Kaveri and Saryu »‘
3) Narma‘da“%and Brahamputra

(4) Tapi and Narmada

R
roaly



.

st Gt o R dw A

T @ ot S ST R
(1) IS S
2) TREA fom S s
(3) S oifw e ©
-4 T Sw

The International Bank for Reconstruction
and Development 1s »»»»» also known as

Intematmnal Ban =
Asian Development'Bank
Bank of America

World Bank

1
2
3
4

PN N N S

74, FYFHA SSEem AT
(1) R &M HE

Pradhan Mantri U]]a wale 'Yo]ana is related
to: :

1)
(2)
(3)
(4)

\mnnm

=

Electricity Conne‘ o“l1

75.
WER g Wmmﬂewﬁamw

?
=@

)

YT A0S

W R

~(3) eFg FER

(4) gechﬁnmm

Who among the f011°W1I'lg has been awarded
Bharat Ratna by Govt, of Indla till November
2024 ? =

(1) Prema Dhanraj [+, ;ﬂé

(2) Ratan Kahar i

(3) Anand Kumar 7

(4) Purushottam Das Tandon
SHiav/ g

Trefafaa # | R TR 2024 T ¥R

11

76.

TR A T Y PT A FF TG ?
(A) Treht wm dem iR et fowm den o
4 e uw foo Hem g g |

~ (B) aﬁwm@wmmwwm

BRI

aéa@mmz’m%l
(D) meﬁﬂﬁmmmw

ﬁ%mmﬁmﬁﬁﬂﬁwwwaﬁml
1 (&), @) (©, D)
1(2). FF (A), (©), (D)
(3) %= (B), (O)
(4) @ (A), (B), (D)
Which of the following statements are true ?

(A) Thesum of ah.éven number and an odd
number is always an odd number.

(B)

The sum of two 0dd numbers is always
an even nurrzibber-z

The dlfference:oj an even number and

an odd nurpber is always an even
number. >

©)

. ||l

,ll HIII

(D) The product 5fsn even number and an
) odd number is always an even number.

Choose the correct answer from the options
given below.

@) (), ®), ©, D)
@ (A), (©), (D) Only
@) (B), (C) Only
4) (A), B), (D)
R G |
4 3 E . [
~ A 3 3
(1) 5 5 ';6
N OV
0 % @ =

P.T.O.




78. ﬁ%é’rﬂéfﬂﬁiﬁ@fﬁﬂﬁfw%%wﬂﬁ
2?2 "‘ ,

Which of the following fractions is not

s F

equivalent to 33

@)

o >

O | >

3)

T S SR W& 4+ T ST G 4
30 3R 50 & AL 1T TR H TS =

795

Smallest prime number +. Even*prime
number + Number of prime numbers
between 30 and 50=

1)
(3)

11

10

80.

Reciprocal of reciprocal of — % is :
3
4

@

@ -3

=
Y ;
% J

o

den 25378 # Yl 5
€% &

81,
I A ey o 2

Find the sum of"ﬂ%"‘}"
(theplace valye of
Sadihe s (the, Of 3 and ¢
eo usedgin_ 1}he number 25378 .d foce
M) s

&)

vy

(2)
(4)

20003

302
20300

SHIAV/ G
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82.

83.

84.

85.

80+8+8%x8—8 hl WA |
Simplify 80+8+8X8—8:

1) 09z 2) 10
(3) 320%] ~@ 66

60, 72, 108 %1 HCF 14 X |
Find the-HCF of 60, 72, 108.

(1) ~(2) 18
(3) 4) 6
39.5%x53.4= -
(1) 21087 (2 21093
(3) 2109.48 (4) 2108.72
B XaxT @ 59
(B) LIX - (@ 54
© XLy (m) 29
D) LIS . (V) 45
e U T fasedl § @ vl SugEd S 3
4) B (© (D)
M) O @M @ @)
(2 ) @ @ - @)
@ A @ av) @
4 @ @ @ @)
Match the following :
(A) XXIX @ 59
(B) LIX¥ (II) 54
(C) XLV=, (i) 29
(D) LIV~ (IV) 45
Choose the most appropriate answer fron
options given below,
(A)“(B) () (D) ®
M O @y vy
@ ) @M @ )
@) M O av) @
@ M O a



"‘

2 11 3 3
86. ﬁFﬁB 5 5 41}@@3@(3@@1&

=l = oM 9@ )

‘Find the product of the greatest and the
smallest of the fractions.

21133
315" 5" 4
11
1) 50 ()
17 :
3) 1 ~(4)*

87. W Sl H Yo B TH W@ T TR S w1
BECESREEER e HiE c i

If we add smallest 3-digit even number and

largest 4-digit odd number, what will be the
result :

(2) SN 19099

(1)—~ 5299

=~(3) 10101

h(‘ln

ﬂ’l
l

i

A

5
88. 142,70, 34, 16, )

ﬂ

Find the missing mimber in

P
142,70,34,16, >

(1) 5 2 s
~3) 7 4) . %'
89. 37.09 46,123 +51.9 &I m m’t |
Simplify : 37.09 + 6,123 4 51 9
(1) 94.013 ~Q2) 95 222
() 95.141 (4) /95,113
SHIAv / g
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90. TRl wHicR v« =Y = smeli &t =y

12cm AA15 cm €| AR 15 cm A9 Y sy

%WSchﬁiﬁ%,ﬁl2cmmaﬁ ‘ﬂ@l’l@ﬁ%ﬁ
g (cmH)T: # .=

The lengths of.,—‘ad]acent sides of a
parallelogram are=12 cm and 15 cm. If
distance between the sides of length 15 cm is
8 cm, then dlstance between the sides of

length 12 cm (in cm) ) i
e £.50) 10
@ 12 @ 9

91. < 108° =T IV BT ¥ :
@ -
e
An angle of 108° i
1)

(3) - an obtuse an’

an acute ang_l___ (2) aright angle

le- (4)

o 'm";;:

ll

a reflex angle

JIH

92. - 3,6, 15H LCM T -
The LCM of 3, 6, 15 is -
> (1) 45 2 3
@) 90 . @) 30

93. ﬁwﬁ%ﬁaﬁmgﬁﬁmﬁﬁ’
Which one of

_ the- follow number is not
divisible by 47 1y 5 8

LN
@

(1) 39576 69468

() 85924 45302

p.T.O.



94. 165 1 24% =

24% of 165=

95. T ¥ Q&N ms:j%iiawxm% WERE?

XLIX+ XLII ? ,
(1) XDI (2) LXXXXI
7L(3) XCI < (4)  XCIX
l 1
—+9=-(+1
96 [83 6]
15 8
W 7 @ 27
20 8
@G 33 @ 3
2 . g2 .
97 182 + 57+ 6° oy ey w5t
g 2 ()
2 52 . (2
Simplify 13" +-8%~+ 6 .
2N

(™
@ 14 el @ 15

3) 225 (Y} (4 288

SHIAV /G

Which of the following is equal to

14

98, Waﬁwwﬁmq,w-oﬁﬁtrﬁf‘u%w%
R} B 7 cm ¥1 S W YT (cm H) I@
T

The perimeter, of a square is same as that of a
circle of radius 7 cm. Find the side of the
square (in cm);

99. 19107 §HIH S & ol a4 T WS

|

O
5

t

my,

The sum of the smallest and the largest
composite hun ibers from 1 to 10 is :

100. 0, 7, 26, 63, , 215 H q< W& T FL
The missing number in :

0l 7l 261 63'}*‘\'7—7' 215 1is:

M) 124 L 2) 115
~ ‘:‘;-«;n
@ 125 - @ 118
(N
.2
o
-00o0-



